STRIKER Special STEP KIT PARTS LIST
YAMAHA MT-10/SP 2 4 RT3y

SS-AA2148B
No. | IN—V 4 | %2 | R | FE il (Faik)
1 ATvIIL—hk L 1 [SS-R970128GL ¥6,200
2 |RFTvITL—k R 1 |SS-R970128GR ¥6,600
3 [AZ7tvybIJL—Fk L 1 [SS-R971028GL ¥4 500
4 |AD2twyhTL—k R 1 |SS-R971028GR ¥4 500
5 |RRB—I)I B —RT— 1 |SS-R970228GT1 ¥3,800
6 |NITT—ART—RHRAT— 1 [SS-R970428G1 ¥4 500
7 |[E=ILAH—F L 1 [SS-R9703001L ¥2 200
8 [E—=JIH—K R 1 |SS-R9703001R ¥2 200
9  [RTyT/N— 2 |SS-R97050000 ¥2 800
10 |FxooRA)L MT-105EMH 1 |SS-R970628GC-C ¥12,000
11 |[FL—FRXRA)L MT-10EH 1 |SS-R970628GB-B ¥12,000
12 |ZRR—H—H5— 30-¢$25%x82x10 2 | 1 |SS-R0016B001 ¥600
13 [RAYFAFT— PT-01-06 ¢ 16 1 [SS-R06093810 ¥580
14 | JvaB0vFEY TypeE 1 |SS-R0028000E ¥1.400
15 [DL—F%XAYyFRT)2F 7YY Typed 1 |SS-R07090003 ¥460
16 [7ZILZSHhS5— ¢20%82x%15 1 [SS-RA2008150 ¥400
17 |HSHKRILE M8X20 RTFULR 4 [SS-RSB08020S ¥200
18 |/RAARILE M6X10 B 4 |SS-RBB06010B ¥100
19 |REAKRILE M6X15 B 3 |SS-RBB06015B ¥100
20 [RAEARILE M6x20 B 1 [SS-RBB06020B ¥100
21 [REARILE M6x25 B 1 [SS-RBB06025B ¥100
22 |[RAE KR MB8x25 B 1 |SS-RBB08025B ¥100
23 [REARILE M8x30 2 2 |SS-RBB08030B ¥100
24 | Xy THR)LE M8x20 E 5 |SS-RCB08020B ¥100
25 |YSHRILE M8x25 B 1 [SS-RSB08025B ¥100
26 [UFvbM6 R £ 1 [SS-RUN06000B ¥100
27 |UFvykMSR 2 1 |SS-RUNO08000B ¥100
28 [RAARILEME X8 1 =40 1 |SS-RBB06008U ¥100
29 |/REARILEM8 X 45 1 =40 1 |SS-RBB08045U ¥100
30 [USKRILF M8x40 1=40O 1 |SS-RSB08040U ¥100
31 [HS5HRJILE M8x50 =40 1 [SS-RSB08050U ¥100
32 [EYEY 2x12 1 |SS-RWP20120U ¥100

EARSIIVEIHE (T/8—, I8 B AYSHRILN) (FITRFZ)LTUREyb ELTRFTLTULNET,

B 5 EE B SS-R00060005 (T 5v%) . 1{EH =Ytk EM¥1200TT,

REVEHEEENOEA O ATULRAEDEAFEHDT—IITRATILAT—SUS ¢ 81ELTERFELTULVET,

5 %5 SS-R00060002, 118 %H1=YRiKE M¥550TY




MT — 1




